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1. Solve the inequality 2 - 2x > — 10. Graph the solution set.
| r o Z
In set notation, the solution is {x| }. (Type an inequality.) i
Z
7

Graph the solution set. Choose the correct graph below.
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2. Find the following for the function f(x) = 3x2 + 4x - 4.

(a) f(0) (b) f(3) (c)f(~3) (d) f(-x)
(e) ~1(x) () fix + 1) (9) f(4x) (h) f(x + h)

(a) f(0) = (Simplify your answer.)
(b) f(3) =| (Simplify your answer.)
{c)f(-3)= | (Simplify your answer.)
(d) f(~x) = (Simplify your answer.)
(e) -f(x)= | (Simplify your answer.)
0 fix+1) = (Simplify your answer.)

(g) f(4x) = (Simplify your answer.)

(h) f(x+h)= :’ (Simplify your answer.)

Answers -4
35
11

3x2—4x—4

-3x%-4x+4

3x% +10x + 3
2

48x° +16x~4

3x? +6hx + 3h? + 4x + 4h - 4

ID: 1.1.43
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3. Find the domain of the function.
fix) = 1/3x -21
The domainis | |. (Type your answer in interval hotation.)

Answer: [7,00)

ID: 1.1.59
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4. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain. j

f(x) = 3x +7; g(x) = 5x - 6 (;ci,c)ﬁ(/,
(a) Find (f + g)(x). 4 o) 1 9C) =
f+9)() = (Simplify your answer.) (;X/"f"l ) € ( SA—6 ) -

What is the domain of f + g? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. 3)(,.,; 7 —t 5—)( ~6 =
‘/ __f
- (=
A. The domain is {x] g >( ~+ (D= v
(Use integers or fractions for any numbers in the ex rmr;ma to separate

answers as needed.) ( i S ] /2&/] z

B. The domain is {x| x is any real number}. ?4_(} . J ({) 7
(b) Find (f - g)(x). C?)(’_f,z) — ( r)( = e) =
f-g)x) = | (Simplify your answer.) 3)(_/ 7 — 5—)(4 (=

What is the domain of f— g? Select the correct choice below and, if necessary, fill in.the answebpq/%omplete your _“‘\ P4
choice. —

i

g'—2x+f(3 )

) A. The domain is {xl }
(Use integers or fractions for any numbers in the expression. LUse a comma to separate

answers as needed.) 6/‘ ‘) ){- ‘\/7 @
() B. The domain is {x| x is any real number}. ;'/ :
] ¢ 57%)

(?x+7)/@%~e)
(& —[fxX + 35K —

What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to ¢ Uo /eﬁ your choice.
._\___\_\_\_‘_‘—‘—-—\_
v { 7 X N
(_ £ —¥zc
O A. The domain is {x } ? / / _,L Y
(Use integers or fractions for any numbers in the expressmn Use a comma to separate
answers as needed.) - —
- — « 2
) B. The domain is {x] x is any real number}. (j )/)/) z ‘/LV/\ S )( 6
f SX—6+6=076
(d) Find [5] (x). ,ﬂff—‘ - f /1/ -

0 "X 2 b
{é] 0= |(simplify your answeryﬂ B k ] L/(/ ‘"’-:‘3’-- : <
Sy—¢__— K i

f ol
What is the domain of E? Select the correct choite-below-and; if necessary, fill in the answer box to complete your choice.

<) e, /( ﬁ~§
A. The domain is {x| }. \é,
(Use integers or fractions for any numbers in the expression. Use a comma to separate 1
answers as needed. v —
| (Frod) = e !

B. The domain is {x| x is any real number}.

A‘//Z%47—wauiy/
(‘[ T j)( ‘7,/ 3 ; *":‘? 8/24/2019, 12:29 PM

(c) Find (f+ g)(x).

(feg)(x)= | (Simplify your answer.)

(e) Find (f+ g)(4).
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(f+g)d)= | (Type an integer or a simplified fraction.) (/,_ 7) “) z "—Z )("f/ g
( Find (- g)3) F~9)(3)c~203)713

f-ag)(3)= | (Type an integer or a simplified fraction.)

(9) Find (f+ g)(2).

(fe9)(2)= :’ | (Type an integer or a simplified fraction.)

I E—— : - ' Z
Feglg=/sx +1 7w ~42
Leg)(2)=/5(2)" 170~y 2
[f](1)_ (Typean |ntegeroraS|mpI|f'edfr ﬁn) L) /(/2)(() _f/7/2/ S/Z
,/(u /f(q)f/ﬂqj ~7 2

(1)= 60+ 37— Z
-2x+13 //(2) - ?‘C/,_,(_f P

B. The domain is {x| X is any real number}. / @ﬁ) (2) v ‘5”‘/&/} //

15x% + 17x - 42

S (f
(h) Find [g]m.

Answers 8x + 1

B. The domain is {x| X is any real number}.

B. The domain is {x| x is any real number}. (7)M  ae—
)2 X6

3x+7 / .
e Ay =307
A. The domain is {xl | x;e% } 6) ﬂ / ""'_:_H

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)
33 Z .~ B 7
7 - i
” ,£ B LU
=10 ( g / B o / .//
< = :

ID: 1.1.67 @ﬂ:’f’/’/ | _ _

5. fix + h) f(x)
Find the difference quotient of f; that is, find ———— h#0, for the following function. Be sure to simpilify.

((/Wa’c(xw,) w‘) (X Soxrv) <

f(x) = X2 - 6x + 4

f(x + h) = f(x) .| (/1/”‘5\}(1(’ A) —'é)(r—éh —(—k/ —x 7‘6/("7 -

h

/1
K "*KL\'f)(l«wfé —6xX ~Ch Y —X f+6{~;/

Answer: 2x+h -
A

ID: 1.1.83 L’L()(/\”‘L{(L\—Fh “'GJ('*G"\ Y **-;( TGX (./ —

= — d
2¢h—t W 26h 2k pt ._%2@6
h 4 h g §24120 _1J9, 12:29 PM
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6. Determine whether the graph on the right is that of a function by using the vertical-line j\y
8

test. If it is, use the graph to find the following.

(a) the domain and range
(b) the intercepts, if any
(c) any symmetry with respect to the x-axis, y-axis, or the origin

T T T T

Does the graph represent a function? Choose the correct answer below.

A. No, the graph is not a function because a vertical line x= — 1 intersects the graph at only one
point.

B. No, the graph is not a function because a vertical line x= - 1 intersects the graph at two
points.

C. Yes, the graph is a function because every vertical line intersects the graph in more than one
oint.

(LB, Yes, the graph is a function because every vertical line intersects the graph in at most one
point.

(a) What are the domain and range of the functlon‘? Select the correct choice below and, if necessary, fill in the answer

box(es) to complete your choice. (f@/‘f_ r;)A}( ( f"?d v 1 W)
J

V"A/Th@mam is (é/ ()) Thégels (- ‘90 S >

(Type your answers in interval notat Use integers or fractlons for any numbers in the
expressions.)

B. The graph is not that of a function.

(b) What is/are the intercept(s)? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. -
.. Sy b e

'u'/A-//The@L( is/are ("“/ ) ")/ 7<'

(Typ&.an or ed pair. Usé a comma to separate answers as needed.)
B. There are no intercepts.

C. The graph is not that of a function.

(c) Determine if the graph is symmetric with respect to the x-axis, y-axis, or the origin. Select all that apply.

[ A. The graph is symmetric with respect to the y-axis.
["] B. The graph is symmetric with respect to the origin.
[] €. The graph is symmetric with respect to the x-axis.
L ﬂﬂ/ T_r]e g_ra_;;l‘n has no symmetry. .

[_] E. The graph is not that of a function.

8/24/2019, 12:29 PM
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Answers D. Yes, the graph is a function because every vertical line intersects the graph in at most one point.

A. The domain is (—2,0) The range is (= 00,5)
(Type your answers in interval notation. Use integers or fractions for any numbers in the expressions.)

A. The intercept(s) is/are (-1,0) .(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph has no symmetry.

ID: 1.2.19

6 of 32 8/24/2019, 12:29 PM
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7. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

uw} ,}/""ﬂ f; /‘WL(/L(.,& ~

’v\
(a) What are ée ihtercepts‘? )( f

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)
(b) Th@omaln is l‘”‘} S ') e[j’/—é ¥ ble /' z

(Type your answer in interval notation.)

s T} e bbb, TOF

(Type your answer in interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

e P~ <ol = )
WA, The graph is @;asiﬁg on [ _#,; "-)7 . L / ) ')j
(Type your answer in interval notation. Use a comma to separate answers as needed.)
B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

"-.‘.‘-/Arerh(la graph is@:;‘_;:i;"’g on .-— G - (J [ 0,-' ”]

(Type your answer in interval notet;on Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.
On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on 2
(Type your answer in |nterval notatlon Use a comma to separate answers as needed.)

7 B. '@;raph is not constant on any |nterval

|
(d) The function is (1) _—'

‘/(;-\_h )
(1K even.
neither odd nor even.
odd.

7 of 32 8/24/2019, 12:29 PM
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Answers (-1,0),(1,0),(0,1)
[-3.3]
[0,2]

A. The graph is increasing on | [-1,0},[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,-11,[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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8. The function f is defined as follows.
-3x+4 ifx<1
f(x) =
3x-2 ifx=1

(a) Find the domain of the function.
(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) Th{mam of the function f is (“‘" 29, QW) k‘(’ [(, Vi />

(Type your answer in interval notation.)
(b) Locate any |Q[ti__g\3$elect the correct choice below and, if necessary, fill in the answer box to complete your choice.

‘A/ The intercept(s) is/are [ o J g ) . h\/\f\\/’*’ “"(“/

(Type an ordered pair. Use a comma to separate answers as needed.)

() B. There are no intercepts.

(c) Choose the correct graph below.

(d) Th@ﬂhe function fis| [~ 7 (i ) & ( N ™~ W)

(Type your answer in interval notatm )

Answers (= c0,00) L5 . \\\
A. The intercept(s) is/are | (0,4) I j s (& ) 1 .f’l. )
(Type an ordered pair. Use acomma to separate answers as needed.)
y A \vwldw’ . & (Cw cAre '
1" i
/ )\/—/“’I mT —[] = _ o
{a—v—rr veorer 'T—)- XF m({( / L
-1 — . -
A. 7 My T~/
[1100) \ 7" k”\‘\( = /0 | '___ — _,._—/—"4— /_—g_—__—___h- . -
- ( o Ny
ID: 1.4.33 : :

e ﬁdh _ 2 |
“’} ”L’BY#‘/ '-—*(/(< ) 0lew Cucly

2D ML '|

(r LIt ()(> ) Close CI/CL(

g, = =2

9 of 32 ' 8/24/2019, 12:29 PM
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9. The function f is defined as follows.

4+x ifx<0
f(x) =
2 ifx=20

(a) Find the domain of the function.
(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a)Th@afu%fthefunctnonﬁs (uf e ) é’(/f’/é/ VI)A /)

(Type your answer in interval notation.)

= = —m .-fv\ e 4 ‘_.J&U\)
i'( Thé?ntercept(s)"ié?ara ( O/ (C)) ()5 ~iabiand St

(Type an ordered pair. Use a comma to separate answers as needed.) 12 leen

(b) Locate any intercepts. Select the coLec‘ choice below and if necessary. fi ?n the answer box to complete your choice.

() B. There are no intercepts.

.

(c) Choose the correct graph of f(x) below.

O A. O B. Oc.

(d) 'I'It’rg'ige,of the function fis g-—' [ /_’}/»’) <
(Type your answer in interval notation.)

Answers (— 00,00)

A. The intercept(s) is/are | (—4,0),(0,0) |
(Type an ordered pair. Use a comma to separate answers as needed.)

th/ \f»-,//u‘\/

D.
(— 00,00) Jf/""l* "/.7
ID: 1.4.37 yls /3 ‘/

D Vhsj/f
= 9?\)(;.,/()(< o) 0pe Cuocl

rwr)) Pk

‘11""% Lz (XZ0) Clse Cred

10 of 32 8/24720T9, TZ2Z9PM—
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10. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) F(x)=f(x)+2 (b) G(x) =f(x + 5) (c) P(x)= —f(x)
1
() HE)=f(x+1)-3 (e)oa)=5ﬂm () g(x)=f(-x)

(9) h(x) =f(2x)

}-Chqggf the correct graph of F(x) = f(x) + 2 below.
( j‘r{ \ ) B. Oec. O D.
6'_ f \ Iy %

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

11 of 32
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(f) Choose the correct graph of g(x) = f( — x) below.

O B.

12 of 32 8/24/2019, 12:29 PM
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Answers

ID: 1.5.63
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1.

(a) Graph f(x) = |x + 4| - 2 using transformations.
(b) Find the area of the region bounded by f and the x-axis
that lies below the x-axis.

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis that
lies below the x-axis is ] square units.
(Simplify your answer.)

Answers

ID: 1.5.81

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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e X,i—{‘_ Z O /{,\5514/'}.‘

12. Find thé zeros ofthe quadratic function by Gg_toring:,What are the x-intercepts of the graph of the function? )2;,/

Z

Fo)=x2 +x-2 ()<"‘ [)O(‘f' 2’) . -,
X»—-/ ) ol )("fé =

Select the correct choice below and fill in the answer box to complete your choice. i

/ 7 o
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.) Y —
’j‘ ( rm:— O I 04 %_lc/(.-—/./u L

The zeros and the x-intercepts are different. The zeros are X

O , the x-intercepts L ~—

A. —f : . \

are : /Eﬁ ﬂ_’ X — 2_ )
B. The zeros and the x-intercepts are the same. They are /

Answer: B. The zeros and the x-intercepts are the same. They are | -21 [

ID: 2.3.17

—

T = .
13. Find @gros.oﬁhe quadratic function b@ﬁm. What are the x-intercepts of the graph of the function?

(x)=3x" - 11x - 4 ) ———l_(,(,-y il =
’ (3x + DK — 4 =9

Select the correct choice below and fill in the answer box to complete your choice.
Use a comma to separate answers as needed. Type an integer or a simplifieg fraction. — .
( P ded. Type an Infeger or ¢ 5' e ) (Y9 =O

K| =
0 The zeros and the x-intercepts are d?ﬁerent. he zeros are , the x-intercepts
A. & . s
are . 2, )(f { ___/ - J ( w_fﬁ&/z L (
() B. The zeros and the x-intercepts are the samg),)They are , . - &/—'—»\‘_.
Answer: B. The zeros and the x-intercepts are the same. They are -4 L

3~ =L
i W
ID: 2.3.18 Xs /3 )

o

| i — > S h
- =N o= ———
14. Find thgﬁ{m)bf the quadratic function Eginwmmiat are the x-intercepts of the graph of the
function?_—— (! (y —2 ¢ —es

- 2 oy el =S '
g)=(x—-6)"-25 J(‘G) ~ 2 < r(‘W/IJ—k
Select the correct choice below and fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
ded. : _ W/ e
separate answers as needed.) %_ ) l .i— L/?T

A. The zeros and the x-interc pt(are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
" are Z {r’é = :t_ S
6 = $
/A_x)( X—CG = —S orL X—

Answer: A. The zeros and the x-intercepts are the same. They are i 111 L

 He—— el

)(_(,7;(?';_"5’7‘6 O )("G/

o2z @\ o =

15 0f 32 8/24/204942:29-PM—
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e .

e e —
E -

15. Find tfzeros,/lfany, of the quadratic function usin @uadratic formula. What are the x-intercepts, if any, ofthe-graph
of the function? /9 = = @/ ~
|

» Pl . 1 )
” - - ) WA
f(x) = 3x% + 6+ 10x )</ 3/ ’7; / A 7-(7 Bl

.—"/-”7
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

A
are

() B. The zeros and the x-intercepts are the same. They are

() €. There is no real zero solution and no x-intercept.

—5+ 47 —5-J7l L’

b 23X K +6 - )

ID: 2.3.47 - — 0 -

{E~47fwzzpycg—
' la e
)(r,(/o) V7Y —7(3)(6/
2(>)

R Vj72237:::77zi_ﬁ_ﬁ~__ijbf

— 0

Answer: B. The zeros and the x-intercepts are the same. They are

/{/f ~0 T 2(/7‘

16 of 32
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16.
Graph the function f(x) = - ¥ - 4x by starting with the graph

ofy= X and using transformations (shifting,
stretching/compressing, and/or reflecting).

Select all the transformations needed to graph the given
function using y = 2.

1A,
[1B.
(Je.

Reflect the graph about the y-axis.
Shift the graph down 4 units.

Compress the graph vertically by a
factor of 4.

[ D.
[JE.
[JF
[]G.

Shift the graph up 4 units.
Shift the graph to the left 2 units.
Reflect the graph about the x-axis.

Stretch the graph vertically by a factor of
-2,

[ ] H. Shift the graph to the right 2 units.

Use the graphing tool to graph the function.

-20

-12

https://xlitemprod.pearsoncmg.com/api/v1/print/math

AY
20-

16-]

Answers D. Shift the graph up 4 units., E. Shift the graph to the left 2 units., F. Reflect the graph about the x-axis.

Ay

d H

Ly u((lw}’

e

olve. )(”‘M’l Iy - '-/ &

ID: 2.4.29-Setup

X—MhLz /1
7/}4’7‘-”) o~/

7,’/hg)<'f /o

17 of 32
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7.

"’For the quadratic function f(x) = X2 +2x - 3, answer parts (a) 204 '
through (c). :

(a) Graph the quadratic function by determining whether its i 2_
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. n
Does the graph of f open up or down? 4]
] X

down 20 416 42 & 4 1 4 8 12 1B 20
up -4
-8+

What are the coordinates of the vertex?

The vertex of the parabola is .

(Type an ordered pair. Use integers or fractions for any -16
numbers in the expression.) i

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is .
(Type your answer in interval notation.)

The range of fis | l:
(Type your answer in interval notation.)

{c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

19 0f 32 8/24/2019, 12:29 PM
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Answers up
(=1,-4)
x=-1

A. The x-intercept(s) is/are | -3,1 |
(Type an integer or a decimal. Use a comma to separate answers as needed.).——— ———

A. The y-intercept is -3 '|.(Type an integer or a decimak: ) AR

ny
204

(110) X1alerss g1

12 16 20

y 4 8
(0}”)) /--Jv\ 1;, b"j"l

(= 00,00)
[-4,00)
[=1.00)
(- 00,-1]

ID: 2.4.37

¥
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Crme j -4 ¥¥é) TC - ) s
" & ( ~¢) vt x

< Determine the quadratic funchorl 'raph%s-gavan Thé quadratic functlon which describes the given graph is
below. _ya((',_.z)—c,"(x) l___(\l\s/e Pobv,{f _ —

Ay (Type an expressuon ) )( y
g (0, ~L) [ = ( '—U*‘
] i1 : - L /

[—7 TG (C?v“l) b 5<_~.? \7

g “L=a(-1)°- ,
| iy <)) ¢ | ((x‘
T -1 RG] 6 |

(0f4) o250 . qa‘;c
2 N R 2
\7 — "’047// R CL/ ¢ ) < lol
-20- \/»(/Lfﬂ Lf ) Zﬁ-
Answer: y2 _ 4~ 2 o 7

ID: 2.4.49

19. Determine, without graphing, whether the given quadratic function has mammu;walufﬁ minimum value and then f'nd
the value. /"’"“*\ Stence 4— i's Q €t

[q —\)
4q ' 74 xf'
fx)= - 3x% +18x - 9 i / (///»"f AQL\JV] _Sp &S 1

Does the quadratic function f have a minimum value or a maximum value? & L( X = ( e

N , . — J
(:} The funct!onfhas a m.a)'(lmum value. 1()(/ e 3)( _f,l 7/( .- \
() The function f has a minimum value. C —
. . A 7’3 b ( 7/
What is this minimum or maximum value?
O
(=7 )

(Simplify your answer.) z ( 3 )

vt 17
Answers The function f has a maximum value. < ( A= ( j

Verdi —'(3 f%?ﬁ |
ID: 2.4.59 V//,{,{ ~ / “3(3) __;-/g(;/ -‘”1_) s N

vk (s B i ) SO
' (
Ve ’:’{ —-5(‘?) + (¥03) - 7) | (5’ )

v / 3 ~L7 + §$¢—1 ) / N v
ek, - /3‘ 27-4) ﬁ H% B
T / 5, " 5// NV
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——— = N % =
20. Use therratlonal zeros theoren)o find al the real ze;os'/%ﬁf the polynomlal functlon \Use the zeros to factor f over the réal -
numbers. —— W/
el —— I\
2/;’/_ [ ¥ *f'/u/ I3 —2 2, YQ\’J

Find the real zeros of f. Select the correct choice below and, if necessary, fill in the answer box to complete your answey.

( TE i
O A x= o ssi by T2 L

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or &
fractions for any rational numbers in the expression. Use a comma to separate answers as 2 i l

needed.) fz 2 + 1 ];/}:

) B. There are no real zeros. polt 7

Use the real zeros to factor f. / __) el e
o550} s
9= s)lw‘““ C'” bty T T s

(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the expression.) / .
] ¢ ./ { [

UdC SY nt

AnswersA.x=[ -1, -1, 2 i ‘A/k\/‘ 5\.,«, q K 7 g_‘__‘___,.—;

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use.a€omma to separate answers as needed.)

x+1)(x+11)(x - 2) .,,-] D / /0 ~( 7% o 22%
T — | —9q A

ID: 3.2.45 / e
q —2 (O e

|
\Li, v

f(x) =x° +10x% - 13x - 22
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’_ o

21. Find theé-:rtipal onntal and éhq easymptetés if any, for the followmg rational fupction.
Zl- /J ™
14x

x+6 X7 G =0

Select th t ch bel dfilli boxes withi h
elect the correct choice below an in any answer boxes within your choice. )[7‘(7 6 Jd/é

R(x) =

(A, The vertical asymptote(s) is/are x = . p—
(Use a comma to separate answers as needed.) o

-

Ty
f_ﬁg@_f/ L"__l'_ﬂ.. =

A L

(") B. There is no vertical asymptote. . [

Select the correct choice below and fill in any answer boxes within your choice.

) A. The horizontal asymptote(s) is/are y = . / Zi( .
(Use a comma to separate answers as needed.) / )( i
() B. There is no horizontal asymptote.
Select the correct choice below and fill in any answer boxes within your choice. %
/sz -
(A, The oblique asymptote(s) is/are y =

(Use a comma to separate answers as needed.) o~ /’26’f / 2“/"] -+ f/ﬁ S 71,.,////( )
() B. There is no oblique asymptote. < ‘7 { ‘f \

Answers A. The vertical asymptote(s) is/are x = -6 |.(Use a comma to separate answers as heeded.)

A. The horizontal asymptote(s) is/are y = | 14 !.(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

ID: 3.4.45

________._-—z—-“’_'_________fﬁ;’_\_’l'——*-"—__—‘““————____
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22. For f(x) =9x+ 1 and g(x) = 9x, find the following composite functions and state the domain of each.

24 0f 32

(@) fog (b) gof (c) fof (d) gog
(@) fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo giis {x | 3
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{0 B. The domain of f o g is all real numbers.
(b) (@ o) =| | (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

e

() A. Thedomainofgofis{x| }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o fis all real numbers.
(c) (fo f)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domain of fo fis {x | }-
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(0 B. The domain of f o fis all real numbers.
(d) (gog)(x) =| (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

() A. The domain ofgogis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{J B. The domain of g o g is all real numbers.

Answers 81x + 1
B. The domain of f o g is all real numbers.
81x+9
B. The domain of g o fis all real numbers.
81x+10
B. The domain of f o f is all real numbers.
81x

B. The domain of g o g is all real numbers.
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(/-jr/
he function f(x) = 6x — 3 is one-to-one.

https://xlitemprod.pearsoncmg.com/api/v1/print/math

Ay
(a) Find the inverse of f and check the answer. 20+
(b) Find the domain and the range of fand f 1. 18-
(c) Graph f, f 1 , and y = x on the same coordinate axes. 12.’
- B-
@t (0= :
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) ] X
_ _ _ 20 A6 12 8 4 | 4 8 12 16 20
(b) Find the domain of f. Select the correct choice below and, if 4]
necessary, fill in the answer box to complete your choice. ]
-8
() A The domain is {x|x# ). 2]
]
) B. The domain is {x|x2 3 6]
(. €. The domain is {xlxs }. -EDJ
() D. The domain is the set of all real

numbers.

Find the range of f. Select the correct choice below and, if(
necessary, fill in the answer box to complete your choice:

s

) A. Therangeis {yly 3 }
) B. Therangeis {ylyS }
() C. Therangeis {y|y1‘i‘E }
D

The range is the set of all real numbers. ]

Find the domain of f~ 1 . Select the correct choice belo*v and, if

necessary, fill in the answer box to complete your choice.

A. The domain is {x|Xie }
B. The domain is {x|x$ }
C. The domain is {xle }
() D. The domain is the set of all real
numbers.

Find the range of f 1. Select the correct choice below ﬁ'md, if

necessary, fill in the answer box to complete your choic’le.

A. The range is {y[y;»E }
() B. Therange is {y|ys - } |'L
(0 C. Therangeis {ylyz - }
{1 D. The range is the set of all real numbers.

(c) Graph f, f~ 1 , and y = x on the same coordinate axes.
the graphing tool to graph the functions.

27 6f32——
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x+3
6

Answers

D. The domain is the set of all real numbers.

D. The range is the set of all real numbers.

./"

D. The range is the set of all real nuU,
p () ]) =
I

D. The domain is the set of all real numbers )

ID: 4.2.53 ) —
- - =X f?“?wl S—
24. Solve the equation. ( 2'3) 2
8-x+30=128x ,5)('1_ q‘)
» The solution set is | g
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
) o —
— O c— 7
Answer: 9 } )(’/ ] 7)< =
~3 £ +%/9’.; T 2% =%2
ID: 4.3.73 ,__,3)( - , ~3 o
~3x —7 >< 7% Gu=FX
—/OX T —TJv
o X = TZZ
—/fI_ S
K=
872472019, 12:29 PM
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25. Solve the equation. /Qj i {C )(’f 5 )
<
log,(2x+5)=3 ¢ — =
. - . : g J
Change the given logarithmic equation to exponential form. 2 -~ 2 . ’ Y wri-
% A i
| A | -
(Type an equation. Do not simplify.) 2 g z g X T

The solution set is { . f S 7 K;"" N
(Simplify your answer. Use a comma to separate answers as needed.) 7 e /
- a3 o o 7
7 =% = LXtF3S

Answers oy 4 5= 23

3 BZZX

2 n _ _ )
Ao v 2 )<
3 2 2
ID: 4.4.91-Setup & Solve . T

N e ——

—————
26. Solve the logarithmic equation.

log g(x+5)=log g9
Determine the equation to be solved after removing the logarithm.

| "
\

(Type an equation. Do not simpilify.)
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

f

(J A. The solution set is { } j
(Simplify your answer. Type an exact answer. Use a comma to separate answers as /
needed.)

B. There is no solution.

Answers x+5=9

A. The solution set is { 4 b

(Simplify your answer. Type an exact answer. Use a comma to separdte answers as needed.)

ID: 4.6.9-Setup & Solve (_'C, 2 ()é,[\/y ¢ /C”f
I oy

Xts = 9 re el

%4%5 53
(*/ c/ \H/

w""v’x‘_ o

'——--..__-—‘__‘--\‘______"__,,.-"/ e
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Losfq #Lo(xr1) = /A ool

. . . 4} -r(_‘_ {,0/ s “‘I
27. Solve the logarithmic equation. éU /)/) /,\/ ) / L C ,{/ /1~ - )
+ +9)= J TN - (U) @ﬂ) /
2 == RoalGeaI= Loy, (/>(A4c 5) = 7\\__/

Determine the equation to be solved after removing the logarithm. &‘ ¥) ) N

— G
X=1

— o /U’:)(gx"f‘f)
—77/7{‘)\~

(Type an equation. Do not simplify.)
P

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(0 A. The solution set is { } 0 )”/ _f' {1 )(—_J/k_)

—

(Simplify your answer. Type an exact answer. Usa a oomma to sep answers as
needed.) . )’a >(—f / 2
() B. There is no solution. ) =
A Y— / z o X~ /9= 0
Answers x(x +9)=10 ( (.71—/ - d/{ / al )(—f/u/’—/(/’ d—/o
A. The solution set is { 1 ,}- @ an /\/
(Simplify your answer. Type an exact answer. mg'to separate answe ede =

Log (D Coy(l+9)= ] U)(F-/o)d({/}/ —J*5) = f
ID: 4.6.17-Setup & Solve Loy (D “ﬁé”?(/‘)) =i éUD ("/\’ ) e @) (" l) ”"/

:H ’W{J{ ‘?—Qu/f ,_ _, —
i —— [
28. Find the amount that results from the given investment. A /(/ ~+ /‘}" P SsyJ
@ vested @,compounded&ar‘;ny after a period ears , / v 4’( <) FZ/9 = ofO
YW(I"I‘ W= Quder
After 4 years, the investment results in $

é/:‘. & < \/{54/')

(Round to the nearest cent as needed. ) < S’U.) (/ ~t /(//4/ /

Answer: 742.25 # 7 9(2 2{25 /0,3 ‘_') ;
» # O '

ID: 4.7.7 Qﬁ 772.2 ‘/ég(/ u,h_;(
. _”fﬁ
29. How long does it take for an mvestm douﬁn value if it is mveste(t 4%‘Q\mpounded month}y'-? Compounde@)

ntinuously? - g %
* Qm@ /e v “’ W az"?\‘_ e 2ou2/ye C H
At 4% compounded mon nvestmentdoublesmabou | yHars, Fess few )»(/S‘L °/ L/{L
[ _-_ ey /_'___,.,—- -3 ‘:{i""n

(Round to two decimal places as needed: A’ /({ +X /4 ) M- ;
At 4% compounded continuously, the investment rmmﬂ/

2w _ 4, N
Answers 17.36 /UJ - -{M ‘&6_(2 ?IZ S

17.33

ID4735/£,/5) /\ (/-f 0K/ 1) | 0 o
7y (re _Lo(]+, vt/ 1) Q b

/Zéﬁ\ ///f v/ 1) @%J

(//d}“‘ (//-f C/Viz )) 812412019, 1229}.‘ |
C .

f ;;({i

;
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30. If Tanisha hasé 100to mvesgws% per annum mmpour@fd monthly, how long will it be! efore she Has $ 2007 If the () 7 g.‘l
h

compounding is;eonfinliot long will it be? ~ S
) - ﬂ-} g S x’\ *-U &/()3
Compounding monthly, it will be about | | years before Tanisha has S 200 o J i C lll
(Round to two decimal places as needed.) =) /Z,,,’ [&) z [ Z-é (/ 1. (/é/ /\x Z € £)
Compounding continuously, it will be about years before Tanisha has $ 20 ( /
Zé/zh ( r ¢ U_/] “ {r

(Round to two decimal places as needed. )

? /Z'T 2
20 00 (1 57-) Ll 1077, (A ((.0010),

Answers 8.69 Zuu

- | 77906 = s
8es < /M) f’ 64 3///6}J /vz(Z) "}V’ ‘/

\\ o 2 (_"T c(97//L) _ . ,{K/Z) < rC’f(/A
i) TS BN NAE S /51N
How many years will it take for an initial investment of $10,000 to grow to $35 0007 Assume a "m B
@m%ﬁdmﬂt’"“?‘_‘s'y A=pe”

It will take about | years for the investment to grow to $3

(Round to two decimal places as needed.) " ’
3 sygs = (VOV0 C
Answer: 6.26 } sUAO . [dov2 e

o2
5 1l C
ID: 4.7.41 / 3 5= 6‘ . ,Zxaé/
— L(3f5)7 1/(2 P
32. Solve the system of equations. If the systern has no solution, say that it is inconsistent.

2 ¢y < ~2,
[Zx -4y=-2 (/ /m’ ﬂf/gx > gy
10x+y =11
’ Yix 7‘0 =&

Select the correct choice below and, if necessary, fill in any answer boxes within your choice.

SR

() A. The solution of the systemis x = andy= . 7z
(Type an integers or simplified fractions.) Z/X — / -
() B. There are infinitely many solutions. Using ordered pairs, the solution can be written as & R "
{(x Yix= yanyreal number} Z( ] ) == 7
(Simplify your answer. Type an expression using y as the variable as needed.) — Yy —
{) €. The system is inconsistent. ; o, —1 e N
/ \07 1 )
Answer: A. The solution of the system is x=| 1 landy=| 1 |- =l ‘f’ R S V p
(Type an integers or simplified fractions.) /

ID: 6.1.33
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33. Solve the given system of equations. If lh > system has n so tlon say that it is inconsistent.

/ 7 " <

XxX=3y+4z= 9 [/!) / ( é MKZ, A) QK/
2x+ y+ z=-=3 Z/}j . (
—2x+3y-3z= =7 /& _} “73

Select the correct choice below and fill in any answer boxes within your choice.

() A. The solution is x = Y= ,and z= - (Type
integers or simplified fractions.)
() B. There are infinitely many solutions. Using ordered triplets, they can be expressed as

{(x y.Z) | x= ,y= , Z any real number}
(Simplify your answers. Type expressmns usmg z as the variable as needed. )

() C. There are infinitely many solutions. Using ordered triplets, they can be expressed as

{(x y,2) | x= , ¥ any real number, z any real number}

(Simplify your answer. Type an expression usmg y and as t_he variables as n_eedé‘t)/
() D. The system is inconsistent. 2A) / &, A J L

rw/(ﬁﬂj
Answer: A, _
The solution is x = |,andz=/ L (Tyw/

Nl ite) o)

34. Find the sum of the se E?E;E_) —_{l) —r (51(2) _\) T(?"{})——‘;/ ’f’(q(?)‘*?/’(’/q‘[}‘) --q,) p—

5

T N Gq) £ (17-9) 1 (27=1) 7(3F) T(C—1) =
- (O)__tf () LY + (VT

3¢ N G0 T
_ b_ C:w/C//J/J 7 A
Answer: 90 b

g e m—— \
gk — Saem 1 F {

ID:7.1.73 7"3/
— ¥ Xa
- S

55. Expand the expression us@ @___Lﬂ_.ﬁl ¥ C,—i"; & "IM I

oz _W’Q f/ﬁ(jz/f(cy@/édf(fﬁ&*ﬁf/jp

yre )

=
IIMU’I
——
©
x
tD
S

Answer: 5 4 10x* +40x + 80x* +80x+ 32

)(/f/u)( ”f‘/\))(,-(- 3%))( + JoX ¢ 3. “(f)[()(?z,

K\/( >€ /61 ‘ " - : e 5 —~“
ﬁ””kji::_MEL“#,KR!/,::ii;#fdﬁwﬁmm
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